
PROJECT RESCHEDULING BEHAVIOUR

D1 Project – Training Example

Rescheduling example “based on current progress”
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14 days progress has been 

achieved (26%).  The Critical 

Chain duration is 53 days. 

Task 1 until Task 3 represent 

14 days progress.
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Select “Properties” and set 

the project to “Not started”
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Verify the “Rescheduling Behaviour

LYNX will exclude the 14 days from the 53 

days  39 days CC remaining.
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In case the “use the original plan” 

behaviour is selected LYNX will 

maintain the CC of 53 days.

In this example we continue with “scheduling 

based on current progress” 



Update your project as needed
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If you want to add (several tasks), you can easily remove 

the buffers and recalculate and insert later again. 



Adding tasks
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3 NEW TASKS have been added

Length of the CC 

increased from 39 to 51
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The new plan after recalculating 

and inserting buffers again. 

Change status of your 

project to “Released”

Change due date 

as is required!

Past progress from already 

completed tasks is not included yet!



Adding past progress via 
“Set feeding chain duration” 
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14 days progress was already achieved. 

To include progress add 14 + 51 = 65 days. 

Currently the function “Setting the feeding chain 

duration” is available only for users with the role 

“Workspace Owner” (Master scheduler or portfolio 

manager). 

If you have the role of project manager, contact 

your portfolio manager.



Rescheduling result for project D1.
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LYNX shows 14 days progress. 

Critical Chain is 65 days. 


